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[72. Ifx——— 5, then value of x? +—|s
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[go. If x + Z= 5, then the value of x° + = =7?
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184. If x + i = —2+/3, What is the value of x° + x—ls?

/2%ﬁx+%=—2x/§%,?ﬁx5+x—1&; FT AT AT
|

12-2 ?—178\/3 b) 1823

2 . c) —182V3 d) —180v3
CK-I-_I_XL fl)—éu.j_) ox
+> K- X
_ =Y 15 (-6

? -
U A«‘:,;+




195. Ifx+%=Zx/f,thenthevalueofx7—x—17=?
WL x+-=2V2 §ar 27— =2

‘V x x7
a) 194 b) 26 c) 482 478
/ A

‘X-—= =
6 xJ2 > §+6=1Y

2 (
o EREY

- 3Y x[Y + 2




86 .1f x > 1andx+1—4 then the value of x* —x—14=?

mx>13ﬁ1x+—_4%m x —l=?

a)V3 b) 4V3 )ﬂlzx/_ d) 56v3

SICHEH

g 4 KuX 'Z\Jﬁg




1 3+1 . 1
187. If x + -= \/_2+ , then what is the value of x* + F?

afe x+§=@2+1 g ar x4+xi47ﬂ AT F4T &7
4/3-1 4v/3+1 ~4+/3-1 —-4+/3-1
a) b) === A — d)

4

2, CDEa —:
1+1_€_= L(+J-J's -2 = M2 [3-& [3-2
't (:1) )

- = v
X4 %Jv’ > ‘l_ng -uJ3-1

b'
D

| | 36



2
13%. If (a + 1 + 3) = 16, where a is a non-zero
o+t +2=4 . 1
- real number, then find the value of a? + ol

2 .
A (a+2+3) =16, 7 a T AW
an%rﬁﬁ?;itzn% ar a? +—; T AT AT

I
a

\ , a) 3 //ﬂn 049  d)7
-3{J) 0+_a +2= -

4! - —
S

SSCCGL T1, 21 Apr 2022 Sﬂ 7
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